

# All Operations (H)

Calculate each sum, difference, product, or quotient.

$3 \cdot 1 =$	$4 - 1 =$	$4 \cdot 1 =$	$2 \cdot 1 =$
$3 \cdot 1 =$	$12 : 4 =$	$20 : 5 =$	$2 - 1 =$
$7 - 5 =$	$5 + 3 =$	$20 : 5 =$	$3 + 2 =$
$2 + 3 =$	$4 + 5 =$	$5 - 2 =$	$1 + 2 =$
$2 - 1 =$	$20 : 4 =$	$12 : 3 =$	$3 + 5 =$
$15 : 3 =$	$8 - 5 =$	$4 - 1 =$	$5 : 5 =$
$1 : 1 =$	$1 + 5 =$	$3 + 1 =$	$8 : 2 =$
$1 + 1 =$	$1 : 1 =$	$4 - 3 =$	$3 + 5 =$
$10 - 5 =$	$5 + 2 =$	$3 + 3 =$	$16 : 4 =$
$3 \cdot 2 =$	$3 \cdot 2 =$	$1 \cdot 1 =$	$2 \cdot 1 =$
$5 - 4 =$	$4 \cdot 5 =$	$3 + 4 =$	$4 : 4 =$
$4 \cdot 4 =$	$4 \cdot 5 =$	$5 + 5 =$	$2 \cdot 5 =$
$16 : 4 =$	$8 : 4 =$	$6 : 3 =$	$4 + 1 =$
$1 \cdot 2 =$	$6 : 2 =$	$10 : 5 =$	$7 - 4 =$
$2 \cdot 4 =$	$4 + 3 =$	$20 : 5 =$	$8 : 4 =$
$4 + 3 =$	$10 : 5 =$	$8 - 4 =$	$4 \cdot 3 =$
$4 - 3 =$	$6 : 2 =$	$1 + 1 =$	$2 + 1 =$
$6 - 1 =$	$5 - 4 =$	$2 + 2 =$	$8 - 5 =$
$3 + 3 =$	$2 : 1 =$	$2 + 1 =$	$5 + 2 =$
$4 + 5 =$	$3 + 1 =$	$20 : 4 =$	$5 \cdot 5 =$
$1 : 1 =$	$2 : 2 =$	$2 \cdot 1 =$	$4 + 3 =$
$5 \cdot 3 =$	$8 - 4 =$	$4 - 3 =$	$2 \cdot 5 =$
$1 \cdot 4 =$	$5 - 1 =$	$3 \cdot 1 =$	$2 + 2 =$
$1 + 5 =$	$7 - 4 =$	$5 \cdot 4 =$	$6 - 4 =$
$2 + 2 =$	$2 \cdot 5 =$	$20 : 5 =$	$1 \cdot 2 =$